BASE BI	D ITEMS: Blake A	Avenue (Sta. 4+97 to Sta. 9+78)			Engineer's	s Estimate	Fechko E	xcavating	Fabrizi Truck	ing & Paving	Xtreme	Elements	Tri Mo	or Corp	Grassba	augh LLC
ITEM	DEFEDENCE	DEGODINATION	OTV	LINUT	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	İTEM	UNIT	ITEM
NO	REFERENCE	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
EARTHW	VORK & REMOVA	ALTIEMS												1		
1	ODOT/SC	ODOT 201 Clearing and Grubbing, complete	1	Lump Sum	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00	\$12,610.00	\$12,610.00	\$8,000.00	\$8,000.00	\$15,000.00	\$15,000.00	\$15,677.86	\$15,677.86
2a		ODOT 203 Excavation, not including embankment, including removal and disposal of excess material off site.	526	Cubic Yard	\$20.00	\$10,520.00	\$25.00	\$13,150.00	\$24.50	\$12,887.00	\$34.00	\$17,884.00	\$25.00	\$13,150.00	\$40.91	\$21,518.66
2b		ODOT 203 Excavation, for removal of unsuitable pavement base material, not including embankment	50	Cubic Yard	\$30.00	\$1,500.00	\$15.00	\$750.00	\$25.00	\$1,250.00	\$40.00	\$2,000.00	\$25.00	\$1,250.00	\$60.00	\$3,000.00
2c		ODOT 203 Excavation, not including embankment, for use as embankment material on-site	30	Cubic Yard	\$18.00	\$540.00	\$20.00	\$600.00	\$20.00	\$600.00	\$20.00	\$600.00	\$15.00	\$450.00	\$75.00	\$2,250.00
2d		ODOT 203 Excavation, not including embankment, for use as embankment material on-site (overdig for paving operations)	110	Cubic Yard	\$18.00	\$1,980.00	\$25.00	\$2,750.00	\$20.00	\$2,200.00	\$34.00	\$3,740.00	\$15.00	\$1,650.00	\$50.00	\$5,500.00
3a		ODOT 203 Embankment, not including excavation (select natural fill to subgrade elevations from excavation).	30	Cubic Yard	\$18.00	\$540.00	\$5.00	\$150.00	\$26.00	\$780.00	\$18.00	\$540.00	\$10.00	\$300.00	\$50.00	\$1,500.00
3b		ODOT 203 Embankment, not including excavation (select natural fill to subgrade elevations from excavation, overdig for paving operations).	110	Cubic Yard	\$18.00	\$1,980.00	\$5.00	\$550.00	\$27.00	\$2,970.00	\$18.00	\$1,980.00	\$10.00	\$1,100.00	\$50.00	\$5,500.00
3c		ODOT 203 Embankment, Type B for replacement of unsuitable pavement base material, not including excavation	50	Cubic Yard	\$50.00	\$2,500.00	\$30.00	\$1,500.00	\$27.00	\$1,350.00	\$75.00	\$3,750.00	\$70.00	\$3,500.00	\$82.00	\$4,100.00
4		Roadway Pavement Removal, 6" to 10" Concrete or Asphalt, including sawcutting (street and driveways)	1,353	Square Yard	\$16.00	\$21,648.00	\$5.00	\$6,765.00	\$8.00	\$10,824.00	\$12.00	\$16,236.00	\$25.00	\$33,825.00	\$12.89	\$17,440.17
5	ODOT/SC	ODOT 204 Subgrade Compaction (driveways and asphalt pavement area)	257	Square Yard	\$2.50	\$642.50	\$5.00	\$1,285.00	\$1.50	\$385.50	\$6.00	\$1,542.00	\$1.00	\$257.00	\$19.31	\$4,962.67
6	ODOT	ODOT 202 Walk Removed	678	Square Foot	\$2.00	\$1,356.00	\$1.00	\$678.00	\$2.00	\$1,356.00	\$2.50	\$1,695.00	\$2.00	\$1,356.00	\$8.00	\$5,424.00
7a		Abandon Utility Main Removed (within pavement area and within 3 feet of finished grade, including excavation, removal, disposal, & premium backfill) complete	475	Lineal Foot	\$15.00	\$7,125.00	\$9.00	\$4,275.00	\$3.00	\$1,425.00	\$12.00	\$5,700.00	\$10.00	\$4,750.00	\$25.00	\$11,875.00
7b		Abandon Utility Service Removed (within pavement area and within 3 feet of finished grade, including excavation, removal, disposal, & premium backfill) complete	50	Lineal Foot	\$12.00	\$600.00	\$15.00	\$750.00	\$3.00	\$150.00	\$21.00	\$1,050.00	\$10.00	\$500.00	\$50.00	\$2,500.00
8		Geogrid Subgrade Stabilization Matting (to be used in undercut areas as directed by the City Engineer), complete in place	150	Square Yard	\$8.00	\$1,200.00	\$3.00	\$450.00	\$7.00	\$1,050.00	\$5.00	\$750.00	\$6.00	\$900.00	\$8.00	\$1,200.00

12b

MEDINA

(premium fill required) as per plan (including trenching, furnishing and installing bedding, and backfill)

	D ITEMS: Blake A	Avenue (Sta. 4+97 to Sta. 9+78)		_		's Estimate		xcavating		king & Paving		Elements		r Corp		augh LLC
ITEM					UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	REFERENCE	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTA
ARTHW	ORK & REMOVA	AL ITEMS (Continued)			I											
		OUDTOTAL FADTUMODI		ITEM		****		*** ***		A40.007.50		405 407 00		4== 000 00		^ 400 440
		SUBTOTAL, EARTHWORK	& REMOV	AL IIEMS:		\$62,131.50	1	\$39,653.00	1	\$49,837.50		\$65,467.00		\$77,988.00		\$102,448
TORM S	SEWER															
		ODOT 202 Storm Structure Removed, replaced with Type 304 aggregate to														
9a	ODOT/SC	subgrade elevations, including excavation	3	Each	\$500.00	\$1,500.00	\$400.00	\$1,200.00	\$827.00	\$2,481.00	\$1,100.00	\$3,300.00	\$680.00	\$2,040.00	\$750.00	\$2,250
		ODOT 202 Storm Structure Removed, NOT including excavation, trenching														
9b	ODOT/SC	or backfilling	1	Each	\$250.00	\$250.00	\$400.00	\$400.00	\$406.00	\$406.00	\$550.00	\$550.00	\$435.00	\$435.00	\$750.00	\$750.
		ODOT 202 Storm Sewer Pipe Removed, 24-inch diameter and under,														
		replaced with type 304 aggregate to subgrade elevations, including		Lineal												
10a	ODOT/SC	excavation	67	Foot	\$25.00	\$1,675.00	\$9.00	\$603.00	\$26.00	\$1,742.00	\$73.00	\$4,891.00	\$45.00	\$3,015.00	\$100.00	\$6,70
		ODOT 202 Storm Sewer Pipe Removed, 24-inch diameter and under, NOT		Lineal												
10b	ODOT/SC	including excavation, trenching or backfilling	38	Foot	\$10.00	\$380.00	\$2.00	\$76.00	\$3.00	\$114.00	\$15.00	\$570.00	\$12.00	\$456.00	\$100.00	\$3,800
		Double Curb Inlet Basin, (including both basins and connecting pipe)														
11a	MEDINA	complete in place as per plan detail	2	Each	\$6,000.00	\$12,000.00	\$5,800.00	\$11,600.00	\$5,801.00	\$11,602.00	\$12,000.00	\$24,000.00	\$7,000.00	\$14,000.00	\$7,413.35	\$14,82
11b	MEDINA	Standard Curb Inlet Manhole, complete in place	4	Each	\$3,750.00	\$15,000.00	\$4,000.00	\$16,000.00	\$5,157.00	\$20,628.00	\$3,250.00	\$13,000.00	\$4,800.00	\$19,200.00	\$4,541.04	\$18,16
11c	MEDINA	Standard Storm Manhole, complete in place	4	Each	\$3,600.00	\$14,400.00	\$3,500.00	\$14,000.00	\$6,065.00	\$24,260.00	\$3,000.00	\$12,000.00	\$4,000.00	\$16,000.00	\$4,153.80	\$16,61
11d	MEDINA	Standard Storm Inlet Manhole, complete in place	1	Each	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$6,675.00	\$6,675.00	\$2,800.00	\$2,800.00	\$4,200.00	\$4,200.00	\$5,568.15	\$5,568
11-	MEDINIA	ODOT Standard 2.2 Catch Basin, complete in place on par plan	4	Foob	#0.000.00	#0.000.00	¢0,000,00	¢0,000,00	£4.004.00	£4 CO4 OO	¢0 500 00	¢0 500 00	# 0 000 00	#0 000 00	#2 204 2 E	#2.20
11e		ODOT Standard 2-3 Catch Basin, complete in place as per plan	1	Each	\$2,800.00	\$2,800.00	\$2,000.00	\$2,000.00	\$4,621.00	\$4,621.00	\$2,500.00	\$2,500.00	\$2,800.00	\$2,800.00	\$3,381.35	\$3,38
		Storm Sewer, 12-inch diameter, within pavement areas (premium fill														
40		required) as per plan (including trenching, furnishing and installing bedding,	070	Lineal	005.00	#00 005 CC	470.00	040 440 00	0440.50	400.005.50	000.00	005 440 00	000.00	004 040 00	0405.07	000.00
12a	MEDINA	and backfill)	273	Foot	\$85.00	\$23,205.00	\$70.00	\$19,110.00	\$113.50	\$30,985.50	\$92.00	\$25,116.00	\$80.00	\$21,840.00	\$105.84	\$28,89
		Storm Sewer, 12-inch diameter PVC SDR-35, within pavement areas														
		I/a a suctions (CII as a street) as a successful of the street of the st		1 1 1 1	•	1	1	1	1	1	•	1		1	•	1

Lineal

Foot

\$90.00

\$2,700.00

\$81.00

\$2,430.00

\$141.00

\$4,230.00

\$94.00

\$2,820.00

\$105.00

\$3,150.00

\$111.85

\$3,355.50

30

BASE BI	D ITEMS: Blake	Avenue (Sta. 4+97 to Sta. 9+78)			Engineer	's Estimate	Fechko E	Excavating	Fabrizi Truc	king & Paving	Xtreme	Elements	Tri Mo	or Corp	Grassba	augh LLC
ITEM					UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	REFERENCE	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
STORMS	SEWER (Continu	ed)														
12c	MEDINA	Storm Sewer, 15-inch diameter, within pavement areas (premium fill required) as per plan (including trenching, furnishing and installing bedding, and backfill)	279	Lineal Foot	\$105.00	\$29,295.00	\$70.00	\$19,530.00	\$118.00	\$32,922.00	\$105.00	\$29,295.00	\$95.00	\$26,505.00	\$120.32	\$33,569.28
12d	MEDINA	Storm Sewer, 18-inch diameter, within pavement areas (premium fill required) as per plan (including trenching, furnishing and installing bedding, and backfill)	114	Lineal Foot	\$125.00	\$14,250.00	\$70.00	\$7,980.00	\$136.50	\$15,561.00	\$108.00	\$12,312.00	\$128.00	\$14,592.00	\$155.02	\$17,672.28
12e	MEDINA	Storm Sewer, 18-inch diameter, outside of pavement areas (acceptable natural fill permitted) as per plan (including trenching, furnishing and installing bedding, and backfill)	296	Lineal Foot	\$110.00	\$32,560.00	\$66.00	\$19,536.00	\$103.00	\$30,488.00	\$65.00	\$19,240.00	\$105.00	\$31,080.00	\$101.64	\$30,085.44
13a	MEDINA	Storm Sewer, 6-inch diameter PVC, outside of pavement areas (acceptable natural fill permitted) as per plan (including trenching, furnishing and installing bedding, and backfill)	46	Lineal Foot	\$45.00	\$2,070.00	\$85.00	\$3,910.00	\$66.00	\$3,036.00	\$45.00	\$2,070.00	\$100.00	\$4,600.00	\$143.74	\$6,612.04
13b	MEDINA	Storm Sewer, 6-inch diameter PVC lateral, within pavement areas (premium fill required) as per plan (including trenching, furnish and install bedding, and backfill)	101	Lineal Foot	\$62.00	\$6,262.00	\$95.00	\$9,595.00	\$83.00	\$8,383.00	\$55.00	\$5,555.00	\$75.00	\$7,575.00	\$92.85	\$9,377.85
14		4-inch perforated, corrugated polyethylene smooth lined pipe (curb drain) complete including trenching, aggregate backfill per plan detail, fabric wrap and tie-in to storm sewer, as per plan	1,000	Lineal Foot	\$16.00	\$16,000.00	\$15.00	\$15,000.00	\$15.00	\$15,000.00	\$12.00	\$12,000.00	\$12.00	\$12,000.00	\$18.50	\$18,500.00
15	MEDINA	Connection of Existing/Proposed Storm Sewer, 24-Inch Diameter and Under, to Existing/Proposed Storm Sewer, complete as per plans	1	Each	\$500.00	\$500.00	\$800.00	\$800.00	\$940.00	\$940.00	\$950.00	\$950.00	\$300.00	\$300.00	\$4,000.00	\$4,000.00
		SUBTO	TAL, STOR	M SEWER:		\$178,347.00		\$146,770.00		\$214,074.50		\$172,969.00		\$183,788.00		\$224,122.27

SANITAR	Y SEWER															
16	ODOT/SC	ODOT 202 Sanitary Structure Removed, NOT including excavation, trenching or backfilling	2	Each	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$863.00	\$1,726.00	\$550.00	\$1,100.00	\$585.00	\$1,170.00	\$1,000.00	\$2,000.00
17	ODOT/SC	ODOT 202 Sanitary Sewer Pipe Removed, 24-inch diameter and under, NOT including excavation, trenching or backfilling	474	Lineal Foot	\$5.00	\$2,370.00	\$3.00	\$1,422.00	\$3.00	\$1,422.00	\$8.00	\$3,792.00	\$20.00	\$9,480.00	\$15.00	\$7,110.00
		Sanitary Sewer, 8-inch diameter SDR-35 PVC pipe, within pavement areas														
18	MEDINA	(premium fill required) as per plan (including trenching, furnishing and installing bedding, backfill, by-pass pumping, and testing) complete in place	474	Lineal Foot	\$135.00	\$63,990.00	\$121.00	\$57,354.00	\$146.00	\$69,204.00	\$145.00	\$68,730.00	\$135.00	\$63,990.00	\$136.81	\$64,847.94

26a

26b

MEDINA

MEDINA

backfill)

furnishing and installing natural backfill)

cover material, including trenching and furnishing and installing premium

Eight (8) inch Water Main outside of pavement areas (acceptable natural fill permitted, including bedding and cover material, including trenching and

BASE BID	ITEMS: Blake A	Avenue (Sta. 4+97 to Sta. 9+78)			Engineer'	s Estimate	Fechko E	xcavating	Fabrizi Trucl	king & Paving		Elements	Tri Mo	or Corp		augh LLC
ITEM					UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	REFERENCE	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
SANITAR	SEWER (Cont	inued)														
		Four (4) Inch Sanitary Lateral SDR-35 within pavement areas (premium fill														
		required, including trenching, furnishing & installing bedding and backfill,		Lineal												
19a	MEDINA	connection and 8"x 4" PVC SDR 35 wye) as per plan	28	Foot	\$75.00	\$2,100.00	\$185.00	\$5,180.00	\$101.00	\$2,828.00	\$140.00	\$3,920.00	\$135.00	\$3,780.00	\$186.26	\$5,215.2
		Six (6) Inch Sanitary Lateral SDR-35 within pavement areas (premium fill														
		required, including trenching, furnishing & installing bedding and backfill,		Lineal												
19b	MEDINA	connection and 8"x 6" PVC SDR 35 wye) as per plan	110	Foot	\$110.00	\$12,100.00	\$195.00	\$21,450.00	\$105.00	\$11,550.00	\$148.00	\$16,280.00	\$155.00	\$17,050.00	\$205.00	\$22,550.0
		Eight (8) Inch Sanitary Lateral SDR-35 within pavement areas (premium fill														
		required, including trenching, furnishing & installing bedding and backfill,		Lineal												
19c	MEDINA	connection and 8"x 8" PVC SDR 35 wye) as per plan	26	Foot	\$125.00	\$3,250.00	\$190.00	\$4,940.00	\$134.00	\$3,484.00	\$152.00	\$3,952.00	\$170.00	\$4,420.00	\$210.00	\$5,460.0
		Sanitary Manhole installed within pavement areas (premium fill required,														
		including trench, furnishing & installing bedding and backfill, testing and														
		connection to ex. 8" VCP pipes w/ conc. encased Ferncos) complete in														
20	MEDINA	place	3	Each	\$6,000.00	\$18,000.00	\$5,500.00	\$16,500.00	\$6,551.00	\$19,653.00	\$8,900.00	\$26,700.00	\$7,500.00	\$22,500.00	\$7,133.99	\$21,401.9
		SUBTOTA	L, SANITAI	RY SEWER:		\$102,810.00		\$107,846.00		\$109,867.00		\$124,474.00		\$122,390.00		\$128,585.1
VATER M	AINS, HYDRAN	TS and FITTINGS														
	•	ODOT 202 Water Main Removed, 24-inch diameter and under, NOT		Lineal												
21	ODOT/SC	including excavation, trenching or backfilling	50	Foot	\$10.00	\$500.00	\$10.00	\$500.00	\$3.00	\$150.00	\$20.00	\$1,000.00	\$20.00	\$1,000.00	\$95.00	\$4,750.0
		ODOT 613 Low Strength Mortar Backfill to Abandon Existing Water Main, (6-		Lineal	·	Ì	,	·	·							
22	ODOT/SC	Inch diameter) complete	495	Foot	\$5.00	\$2.475.00	\$6.00	\$2.970.00	\$11.50	\$5.692.50	\$9.00	\$4.455.00	\$10.00	\$4.950.00	\$19.70	\$9.751.5
		ODOT Item 202 Remove Existing Hydrant Assembly, including watch valve,			70.00	4=,	70.00	+- ,	· · · · ·	70,000.00	77.77	+ 1,100100	7	+ 1,000	7.0	70,10110
23	ODOT/SC	complete as per plan	1	Each	\$650.00	\$650.00	\$500.00	\$500.00	\$743.00	\$743.00	\$1,800.00	\$1,800.00	\$500.00	\$500.00	\$500.00	\$500.0
	020.700	ODOT 202 Existing Water Line Valve Abandon, replaced with type 304			4000.00	4000.00	4000.00	φοσοίσο	ψσ.σσ	V 10.00	V 1,000.00	\$ 1,000.00	4000.00	4000.00	4000.00	V 000.00
24	ODOT/SC	aggregate to subgrade elevations, including excavation	2	Each	\$400.00	\$800.00	\$200.00	\$400.00	\$489.00	\$978.00	\$1.200.00	\$2,400.00	\$350.00	\$700.00	\$412.25	\$824.50
	3001700	Hydrant Assembly, six (6) inch line, including tees, couplings, valve & valve		Luoii	ψ+00.00	ψουσ.σσ	Ψ200.00	ψτου.ου	Ψ-100.00	ψυ/ υ.υυ	ψ1,200.00	Ψ2,400.00	ψυσυ.υυ	ψ100.00	ΨΤ12.23	Ψ024.0
24					1	1	1	1	1	1		1	1	1	I	1
	MEDINA	, , , ,	1	Fach	\$10,000,00	\$10,000,00	\$8,000,00	98 000 00	\$10.488.00	\$10.488.00	\$7,600,00	\$7,600,00	\$13,000,00	\$13,000,00	\$9.500.00	\$0.500.0
25	MEDINA	box, risers, complete in place Eight (8) inch Water Main within pavement areas, (including bedding and	1	Each	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$10,488.00	\$10,488.00	\$7,600.00	\$7,600.00	\$13,000.00	\$13,000.00	\$9,500.00	\$9,500.0

\$23,240.00

\$40,320.00

\$15,604.00

\$27,888.00

\$94.00

\$83.00

\$21,082.00

\$33,600.00

\$127.00

\$100.00

\$18,592.00

\$24,192.00

\$125.00

\$85.00

\$112.00

\$72.00

\$20,750.00

\$28,560.00

\$106.98

\$96.48

\$17,758.68

\$32,417.28

Lineal

Foot

Lineal

Foot

\$140.00

\$120.00

166

336

ODOT 206 Cement at 38.8 pounds per square yard (5% by dry unit weight)

BASE BII	D ITEMS: Blake A	Avenue (Sta. 4+97 to Sta. 9+78)			Engineer'	s Estimate	Fechko E	xcavating	Fabrizi Trucl	king & Paving		Elements	Tri Mo	or Corp	Grassba	augh LLC
ITEM NO	REFERENCE	DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL
		TS and FITTINGS (Continued)	QII	UNII	C031	IOIAL	6031	IOIAL	0031	IOIAL	0031	IOIAL	0031	IOIAL	6031	IOIAL
WATER	MAINS, HIDRAN															
27a	MEDINA	Eight (8) Inch - Various Bends, complete in place	8	Each	\$1,000.00	\$8,000.00	\$480.00	\$3,840.00	\$596.00	\$4,768.00	\$600.00	\$4,800.00	\$1,300.00	\$10,400.00	\$1,300.00	\$10,400.00
27b	MEDINA	Eight (8) Inch Solid Sleeve, complete in place	1	Each	\$600.00	\$600.00	\$500.00	\$500.00	\$1,643.00	\$1,643.00	\$4,500.00	\$4,500.00	\$1,400.00	\$1,400.00	\$3,750.00	\$3,750.00
27c	MEDINA	Six (6) Inch Cap / Plug, complete in place	2	Each	\$500.00	\$1,000.00	\$400.00	\$800.00	\$553.00	\$1,106.00	\$1,950.00	\$3,900.00	\$900.00	\$1,800.00	\$750.00	\$1,500.00
28a	MEDINA	Twelve (12) Inch by Eight (8) Inch Tapping Sleeve & Valve, complete in place	1	Each	\$9,500.00	\$9,500.00	\$7,200.00	\$7,200.00	\$9,062.00	\$9,062.00	\$8,400.00	\$8,400.00	\$10,250.00	\$10,250.00	\$15,000.00	\$15,000.00
28b	MEDINA	Eight (8) Inch by Eight (8) Inch Tapping Sleeve & Valve, complete in place	1	Each	\$8,000.00	\$8,000.00	\$6,800.00	\$6,800.00	\$8,597.00	\$8,597.00	\$8,000.00	\$8,000.00	\$9,800.00	\$9,800.00	\$12,500.00	\$12,500.00
29a		Water Service Connection, "Long Connection", 3/4 Inch Tap, complete in place, including transfer of service from existing line to proposed eight (8) inch water main, supply and installation of curb stop and box, trenching and furnishing and installing premium backfill, supply and installation of corporation valve, complete in place as per plan.	2	Each	\$5,000.00	\$10,000.00	\$3,400.00	\$6,800.00	\$3,473.00	\$6,946.00	\$4,800.00	\$9,600.00	\$4,500.00	\$9,000.00	\$3,550.00	\$7,100.00
29b		Water Service Connection, "Short Connection", 3/4 Inch Tap, complete in place, including transfer of service from existing line to proposed eight (8) inch water main, supply and installation of curb stop and box, trenching and furnishing and installing premium backfill, supply and installation of corporation valve, complete in place as per plan.	4	Each	\$3,500.00	\$14,000.00	\$2,600.00	\$10,400.00	\$2,436.00	\$9.744.00	\$1,500.00	\$6,000.00	\$3,900.00	\$15,600.00	\$3,250.00	\$13,000.00
200	WEDITO!	porporado. Tanto, compide in piaco de por piam	'		ψο,σσσ.σσ	ψ11,000.00	ΨΣ,000.00	ψ10,100.00	ΨΣ,100.00	ψο,ππιοσ	ψ1,000.00	ψο,σσσ.σσ	φο,σσσ.σσ	ψ10,000.00	ψ0,200.00	ψ10,000.00
		SUBTOTAL, WATER MAINS, HYD	RANTS and	FITTINGS:		\$129,085.00		\$92,202.00		\$114,599.50		\$105,239.00		\$127,710.00		\$138,751.96
							T		1		ı		1		1	
PAVEME	NT	I	Γ		T	1		1		1		ı				
30a	MEDINA	Concrete Sidewalk, Four (4) inch thick, (4'-0" wide), complete in place	2,078	Square Foot	\$9.00	\$18,702.00	\$8.00	\$16,624.00	\$9.50	\$19,741.00	\$8.00	\$16,624.00	\$10.00	\$20,780.00	\$7.75	\$16,104.50
30b	MEDINA	Concrete Curb Ramp. ODOT Design A2, complete in place	392	Square Foot	\$20.00	\$7,840.00	\$12.00	\$4,704.00	\$21.00	\$8,232.00	\$21.50	\$8,428.00	\$17.00	\$6,664.00	\$21.50	\$8,428.00
31	ODOT/SC	ODOT Item 608 Concrete Steps, as per plan detail	1	Lump Sum	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$3,784.00	\$3,784.00	\$1,800.00	\$1,800.00	\$900.00	\$900.00	\$2,225.00	\$2,225.00
32a	ODOT/SC	ODOT Item 206 Cement Stabilized Subgrade, 9 inches deep	1,400	Square Yard	\$12.00	\$16,800.00	\$7.00	\$9,800.00	\$17.75	\$24,850.00	\$16.00	\$22,400.00	\$16.00	\$22,400.00	\$14.10	\$19,740.00

\$6,300.00

Ton

\$225.00

\$215.00

\$6,020.00

\$241.00

\$6,748.00

\$215.00

\$6,020.00

\$6,580.00

\$210.00

\$5,880.00

BASE BI	D ITEMS: Blake /	Avenue (Sta. 4+97 to Sta. 9+78)			Engineer'	's Estimate	Fechko E	xcavating	Fabrizi Trucl	ing & Paving		Elements	Tri Mo	or Corp	Grassba	augh LLC
ITEM					UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	REFERENCE	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
PAVEME	NT (Continued)		ı	1		1		1		T		1				
				Lump												
32c	ODOT/SC	ODOT Item 206 Mixture Design for Chemically Stabilized Soils	1	Sum	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$1,649.00	\$1,649.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00
32d	ODOT/SC	ODOT Have 200 Coming Cont	1.400	Square Yard	\$1.25	\$1.750.00	\$1.50	\$2.100.00	\$1.75	\$2.450.00	\$2.00	\$2,800.00	\$1.75	\$2.450.00	\$1.50	\$2.100.00
320	0001/80	ODOT Item 206 Curing Coat	1,400	raiu	\$1.Z3	\$1,750.00	φ1.3U	\$2,100.00	\$1./5	\$2,430.00	\$2.00	\$2,000.00	\$1.75	\$2,430.00	φ1.3U	\$2,100.00
33	ODOT	ODOT 206 Test Rolling	4	Hours	\$125.00	\$500.00	\$200.00	\$800.00	\$183.00	\$732.00	\$300.00	\$1.200.00	\$150.00	\$600.00	\$200.00	\$800.00
- 55	ODOT	, and the second	4	Tiours	φ123.00	φ300.00	φ200.00	φουσ.υσ	φ103.00	φ132.00	φ300.00	φ1,200.00	φ150.00	φ000.00	φ200.00	φ000.00
		City of Medina "Residential" Pavement (eight (8) inch fiber reinforced Type														
		QCMS concrete pavement with two (2) inches of type 57 aggregate base NOT including subgrade stabilization.) Unit price submitted to include		Square												
34a	MEDINA	furnishing and installing concrete pavement and 57 aggregate base.	1,318	Yard	\$98.00	\$129,164.00	\$94.00	\$123,892.00	\$80.50	\$106,099.00	\$92.00	\$121,256.00	\$85.00	\$112,030.00	\$108.80	\$143,398.40
		City of Medina "Residential" Pavement For Drive Aprons (seven (7) inch	,		,			, ,	,	, ,	,	, ,	,		,	
		fiber reinforced Type QCMS concrete pavement with two (2) inches of type														
		57 aggregate base). Unit price submitted to include furnishing and installing		Square												
34b	MEDINA	concrete pavement and 57 aggregate base including excavation.	112	Yard	\$105.00	\$11,760.00	\$83.00	\$9,296.00	\$103.00	\$11,536.00	\$98.00	\$10,976.00	\$100.00	\$11,200.00	\$108.35	\$12,135.20
		City of Medina "Commercial" Pavement For Drive Aprons (eight (8) inch														
		fiber reinforced Type QCMS concrete pavement with two (2) inches of type														
		57 aggregate base). Unit price submitted to include furnishing and installing		Square												
34c	MEDINA	concrete pavement and 57 aggregate base including excavation.	120	Yard	\$110.00	\$13,200.00	\$115.00	\$13,800.00	\$133.00	\$15,960.00	\$102.00	\$12,240.00	\$107.00	\$12,840.00	\$105.50	\$12,660.00
		City of Medina Concrete "Transition" Pavement for Prospect and Medina St.														
		transition (eight (8) inch fiber reinforced Type QCMS concrete pavement														
		with two (2) inches of type 57 aggregate base, NOT including asphalt). Unit price submitted to include furnishing and installing concrete pavement and		Square												
34d	MEDINA	57 aggregate base, complete per plan detail	83	Yard	\$125.00	\$10,375.00	\$126.00	\$10,458.00	\$133.00	\$11,039.00	\$120.00	\$9,960.00	\$140.00	\$11,620.00	\$107.50	\$8,922.50
35	ODOT	ODOT Item 407 Tack Coat	10	Gallon	\$10.00	\$100.00	\$7.00	\$70.00	\$5.80	\$58.00	\$6.00	\$60.00	\$6.00	\$60.00	\$3.25	\$32.50
				Cubic												
36	ODOT	ODOT Item 301 Asphalt Concrete Base	3	Yard	\$500.00	\$1,500.00	\$1,000.00	\$3,000.00	\$1,453.00	\$4,359.00	\$1,500.00	\$4,500.00	\$550.00	\$1,650.00	\$1,000.00	\$3,000.00
				Cubic												
37a	ODOT	ODOT Item 441 Asphalt Concrete Intermediate Course, Type 1, PG-64-22	5	Yard	\$500.00	\$2,500.00	\$1,000.00	\$5,000.00	\$1,017.00	\$5,085.00	\$1,100.00	\$5,500.00	\$550.00	\$2,750.00	\$1,000.00	\$5,000.00
0	05.5-		_	Cubic	****	*******	A -0.5.55	40.500.00	44.015.55	45.000.00	A 4.400.00	A.	A===	40 === ===	A. =====	A =
37b	ODOT	ODOT Item 441 Asphalt Concrete Surface Course, Type 1, PG-64-22	5	Yard	\$600.00	\$3,000.00	\$700.00	\$3,500.00	\$1,046.00	\$5,230.00	\$1,100.00	\$5,500.00	\$550.00	\$2,750.00	\$1,500.00	\$7,500.00
		ODOT Type 57 and Type 8 Limestone Aggregate for Drive/Parking Area														
20	ODOT/SC	Repair (includes grading and furnishing and installing aggregate) complete	161	Square	00.00	¢0 660 00	¢12.00	\$2,002,00	¢22.00	¢2 E42 00	¢16.00	¢2 576 00	¢12.00	¢2 002 00	¢21 00	¢5 124 20
38	ODOT/SC	in place as per plan detail	161	Yard	\$60.00	\$9,660.00	\$13.00	\$2,093.00	\$22.00	\$3,542.00	\$16.00	\$2,576.00	\$13.00	\$2,093.00	\$31.89	\$5,134.29

	ITEMS: Blake A	Avenue (Sta. 4+97 to Sta. 9+78)	1			's Estimate		xcavating		king & Paving	Xtreme I			or Corp		augh LLC
ITEM NO	REFERENCE	DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT	ITEM TOTAL
	IT (Continued)		411			1				1						1 2 3 3 3
		CII.	IDTOTAL F	NAVEMENT.		\$240.0E4.00		¢240.457.00		£224 004 00		#225 240 00		£220 0C7 00		\$254 5C0 20
		50	BIOTAL, F	PAVEMENT:		\$240,651.00		\$219,157.00	1	\$231,094.00		\$235,340.00		\$220,867.00		\$254,560.39
PAVEMEI	IT MARKINGS															
		ODOT 646 Epoxy Pavement Markings (concrete surfaces), Stop Line, 24		Lineal												
39a	ODOT	inch, white ODOT 646 Epoxy Pavement Markings (concrete surfaces), Crosswalk Line,	25	Foot Lineal	\$55.00	\$1,375.00	\$34.00	\$850.00	\$46.50	\$1,162.50	\$30.00	\$750.00	\$32.00	\$800.00	\$40.00	\$1,000.00
39b	ODOT	12 inch, white	130	Foot	\$35.00	\$4,550.00	\$15.00	\$1,950.00	\$29.00	\$3,770.00	\$26.00	\$3,380.00	\$27.00	\$3,510.00	\$25.00	\$3,250.00
20	0007	ODOT 646 Epoxy Pavement Markings (concrete surfaces), Parking Lot Stall		Lineal	400.00	4 -00 00	***	****	450.00	\$4.000.00	447.00	****	447.00	4040.00	* 45.00	44.000.00
39c	ODOT	Marking, 6 inch, white	36	Foot	\$20.00	\$720.00	\$26.00	\$936.00	\$52.30	\$1,882.80	\$17.00	\$612.00	\$17.00	\$612.00	\$45.00	\$1,620.00
		SUBTOTAL, PA	AVEMENT N	MARKINGS:		\$6,645.00		\$3,736.00		\$6,815.30		\$4,742.00		\$4,922.00		\$5,870.00
MAINTEN	ANCE OF TRAF	FIC		· · · · · · · · · · · · · · · · · · ·		_		1		1				1		
40	MEDINA	Temporary Ramping for Local Traffic Access, Installed and Maintained (included furnishing and placing ODOT Type 304 aggregate), complete	5	Each	\$300.00	\$1,500.00	\$500.00	\$2,500.00	\$344.00	\$1,720.00	\$250.00	\$1,250.00	\$450.00	\$2,250.00	\$1,500.00	\$7,500.00
41	ODOT	ODOT 614 Maintaining Traffic	1	Lump Sum	\$7,500.00	\$7,500.00	\$8,000.00	\$8,000.00	\$12,800.00	\$12,800.00	\$10,500.00	\$10,500.00	\$5,500.00	\$5,500.00	\$10,000.00	\$10,000.00
42	ODOT	ODOT 614 Asphalt Concrete for Maintaining Traffic	15	Cubic Yard	\$400.00	\$6,000.00	\$350.00	\$5,250.00	\$383.00	\$5,745.00	\$275.00	\$4,125.00	\$500.00	\$7,500.00	\$150.00	\$2,250.00
42	ODOT	ODOT 014 ASpiral Controls to Maintaining Trains	10	Taru	ψ400.00	ψ0,000.00	ψ550.00	ψ5,230.00	ψ303.00	ψ5,745.00	Ψ213.00	ψ4,123.00	ψ500.00	ψ1,500.00	ψ130.00	Ψ2,230.00
43	ODOT	ODOT 616 Water	10	Mgal	\$50.00	\$500.00	\$20.00	\$200.00	\$10.00	\$100.00	\$50.00	\$500.00	\$200.00	\$2,000.00	\$1.00	\$10.00
		SUBTOTAL, MAINTI	ENANCE O	F TRAFFIC:		\$15,500.00		\$15,950.00		\$20,365.00		\$16,375.00		\$17,250.00		\$19,760.00
				•											•	
SEEDING	AND LANDSCA	PING				_		1		1		T		1		_
44	ODOT/SC	ODOT 653 Topsoil, furnished (imported) and placed	208	Cubic Yard	\$60.00	\$12,480.00	\$60.00	\$12,480.00	\$60.00	\$12,480.00	\$75.00	\$15,600.00	\$55.00	\$11,440.00	\$38.16	\$7,937.28
45	ODOT	ODOT 659 Commercial Fertilizer	0.30	Tons	\$1,500.00	\$450.00	\$1,600.00	\$480.00	\$2,248.00	\$674.40	\$800.00	\$240.00	\$3,300.00	\$990.00	\$1,500.00	\$450.00
46a	ODOT/SC	ODOT 659 Seeding and Mulching	2,500	Square Yard	\$2.00	\$5,000.00	\$2.50	\$6,250.00	\$1.95	\$4,875.00	\$2.50	\$6,250.00	\$4.00	\$10,000.00	\$2.00	\$5,000.00

November 19, 2025

BASE BII) ITEMS: Blake	Avenue (Sta. 4+97 to Sta. 9+78)			Engineer'	s Estimate	Fechko E	xcavating	Fabrizi Trucl	king & Paving	Xtreme	Elements	Tri Mo	or Corp	Grassb	augh LLC
ITEM					UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	REFERENCE	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
SEEDING	AND LANDSCA	APING (Continued)														
				Square												
46b	ODOT/SC	ODOT 659 Inter-Seeding	250	Yard	\$3.00	\$750.00	\$2.50	\$625.00	\$2.00	\$500.00	\$2.00	\$500.00	\$3.00	\$750.00	\$2.00	\$500.00
47	ODOT	ODOT 659 Water	15	M Gallons	\$50.00	\$750.00	\$20.00	\$300.00	\$10.00	\$150.00	\$50.00	\$750.00	\$200.00	\$3,000.00	\$1.00	\$15.00
48	ODOT	ODOT 832 Erosion Control	8,000	Each	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00
		SUBTOTAL, SEEDING	G and LAND	SCAPING:		\$27,430.00		\$28,135.00		\$26,679.40		\$31,340.00		\$34,180.00		\$21,902.28
									•							

INCIDEN	ΓALS															
49	ODOT/SC	ODOT 624 Mobilization	1	Lump Sum	\$15,000.00	\$15,000.00	\$16,000.00	\$16,000.00	\$4,025.00	\$4,025.00	\$39,700.00	\$39,700.00	\$18,000.00	\$18,000.00	\$50,000.00	\$50,000.00
50	MEDINA	Pre-Construction Video	1	Lump Sum	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$907.00	\$907.00	\$1,500.00	\$1,500.00	\$750.00	\$750.00	\$1,000.00	\$1,000.00
51	MEDINA	Construction Layout	1	Lump Sum	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00	\$9,275.00	\$9,275.00	\$14,800.00	\$14,800.00	\$15,000.00	\$15,000.00	\$22,500.00	\$22,500.00
52	ODOT	Premium on Railroads' Protective Public Liability and Property Damage Liability Insurance	Lump Sum	\$6,000.00	\$6,000.00	\$3,000.00	\$3,000.00	\$2,750.00	\$2,750.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00	\$8,000.00	\$8,000.00	
53	ODOT	Premium for Contract Performance Bond and Maintenance Bond	Lump Sum	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00	\$3,813.00	\$3,813.00	\$10,000.00	\$10,000.00	\$6,500.00	\$6,500.00	\$12,000.00	\$12,000.00	
		SUBT	DENTALS:		\$38,000.00		\$41,500.00		\$20,770.00		\$68,500.00		\$44,750.00		\$93,500.00	

SUMMARY - BASE BID	Engineer's Estimate	Fechko Excavating	Fabrizi Trucking & Paving	Xtreme Elements	Tri Mor Corp	Grassbaugh LLC
SUBTOTAL, EARTHWORK & REMOVAL ITEMS (Item #1 through #8):	\$62,131.50	\$39,653.00	\$49,837.50	\$65,467.00	\$77,988.00	\$102,448.36
SUBTOTAL, STORM SEWERS (Items #9a through #15):	\$178,347.00	\$146,770.00	\$214,074.50	\$172,969.00	\$183,788.00	\$224,122.27
SUBTOTAL, SANITARY SEWERS (Items #16 through #20):	\$102,810.00	\$107,846.00	\$109,867.00	\$124,474.00	\$122,390.00	\$128,585.19
SUBTOTAL, WATER MAINS, HYDRANTS and FITTINGS (Item #21 through #29b):	\$129,085.00	\$92,202.00	\$114,599.50	\$105,239.00	\$127,710.00	\$138,751.96
SUBTOTAL, PAVEMENT (Item #30a through #38):	\$240,651.00	\$219,157.00	\$231,094.00	\$235,340.00	\$220,867.00	\$254,560.39
					,	
SUBTOTAL, PAVEMENT MARKINGS (Item #39a through #39c):	\$6,645.00	\$3,736.00	\$6,815.30	\$4,742.00	\$4,922.00	\$5,870.00
SUBTOTAL, MAINTANENCE OF TRAFFIC (Item #40 through #43):	\$15,500.00	\$15,950.00	\$20,365.00	\$16,375.00	\$17,250.00	\$19,760.00
SUBTOTAL, SEEDING and LANDSCAPING (Item #44 through #48):	\$27,430.00	\$28,135.00	\$26,679.40	\$31,340.00	\$34,180.00	\$21,902.28
SUBTOTAL, INCIDENTALS (Item #49 through #53):	\$38,000.00	\$41,500.00	\$20,770.00	\$68,500.00	\$44,750.00	\$93,500.00
GRAND TOTAL, BASE BID (Items #1 through #53):	\$800,599.50	\$694,949.00	\$794,102.20	\$824,446.00	\$833,845.00	\$989,500.45

COMPLETED BID SUMMARY

	Engineer's Estimate	Fechko Excavating	Fabrizi Trucking & Paving	Xtreme Elements	Tri Mor Corp	Grassbaugh LLC
GRAND TOTAL, BASE BID ACTUAL	\$800,599.50	\$694,949.00	\$794,102.20	\$824,446.00	\$833,845.00	\$989,500.45
AS READ		\$694,949.00	\$794,102.20	\$824,446.00	\$833,845.00	\$991,108.84
BASE BID AS % OF ENGINEER'S ESTIMATE:	N/A	86.80%	99.19%	102.98%	104.15%	123.59%
Final Completion Date:	November 27, 2026	June 15, 2026	November 27, 2026	July 31, 2026	November 27, 2026	None Provided
Non-Collusion Agreement:	N/A	Yes	Yes	Yes	Yes	Yes
OPWC Form Work:	N/A	Yes	Yes	Yes	Yes	Yes
Bid Info & Exp.:	N/A	Yes	Yes	Yes	Yes	Yes
Bid Bond:	N/A	100%	100%	100%	100%	10%